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FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 17,348,116 36,529,874 19,181,758
= 4,280,000
== 6,083,571
[Ea 6,984,545
oot & BERAlE2 8,812,509 16,424,764 AT,612,255
= 6,028,372
Ea 2,784,137
a Al 2 8,700,531 16,309,950 A7,609,419
=S 6,028,372
s 2,672,159
A2 EEAE I 495,850 475,850 20,000
201 et 3| 1,050 1,080 0
01 AtR2tc|bI 1,050 1,080 0
Ol =H| 1,050
-k 2= 1=
350,000 3 1,050
202 04t 9,300 9,300
01 =LHOHI 9,300 9,300
OanZeTAE Als2te| g2
20,0002 x32+82 x102] 4,800
O=1ta A2 =8
100,000 x32 32 +52] 4,500
206 M=l 20,000 20,000
01 MHZH| 20,000 20,000
OAR2EAd 2SSAE (KRS
gh) 100,000 *20021 20,000
401 AlZHIZ S OHYI 465,500 445,500 20,000
01 A28l 465,500 445,500 20,000
OanZeEAE ASHFFYI| €X
3,000,000& #54] 15,000
OAARSEZAIE JIt=2ANO0I| &X
7,500,000 +541 37,500
OAREEEAE H=AMAHI| FXE=
] 1,100,000 *200H 2= 22,000
OanZ2eEAE =S2HEZ Wk
2,000,000 *304! 60,000
OARZ2TAIE =23 A
200,000 *10071 223 40,000
OAARsEAE SEMETAIAYE R
=8l 500,000 * 169K 2= 8,000
O4rR2+EAE Hbi+=Xl EHA
6,000,000 *37H 2= 18,000
OLm2AE 28 HEB
4,000,000 *57H 2~ 20,000
OAARsEAE S8 WA
35,000,000 *1IH £ 35,000




FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLAR+EAE 28 HE 2N
25,000,000 #40H 2 100,000
OanZaTAE 222 2S5 SA
2,000,000 354! 70,000
OAREFEZAE 2=SAE 2HEE 89
10,000,000 *43] 40,000
AR AE =EZA 115,400 133,900 18,500
201 er23 | 106,600 125,100 18,500
01 At2teltl 106,600 125,100 18,500
Oget+=ZHI 105,400
A2 AE =E2ZA 105,400
o 130,000 * 12404 2 16,120
= 720,000& * 12404 2 89,280
O=el 1,200
-HEeS 2ol REFA
8,000 x6& 25 1,200
206 M=l 8,800 8,800
01 M= HI 8,800 8,800
OaE2eEAE 25945 FY
4,0003 %2, 200kg 8,800
LR CEHHIAY 458,000 107,000 361,000
401 Al HIZL 2018 458,000 107,000 361,000
01 Al&HI 458,000 106,230 351,770
Oz a2 FA2d| &4
458,000,000 x 14 458,000
ST SHELSELHLAI (HEALY) 686, 143 1,896,000 A 1,209,857
s 541,714
s 144,429
401 AIEHIZ SR OHYI 686,143 1,896,000 A1,209,857
[ 541,714
Ea 144,429
01 Al&HI 683,675 1,889,174 1,205,499
OSSA+ sHELESTIHL A
686, 143,0002 *99.6403/100 683,675
= 539,764
o 143,911
03 Al S THYI 2,468 6.826 AN4,358
ST sOHELESTIHLAE
636, 143,000:& 0.3596/100 2,468
== 1,950
[Ea 518
HEX T SOHEUEZFIHLAS (HEAIY) 1,600,000 2,614,900 21,014,900
= 1,264,000
= 336,000




FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 1,600,000 2,614,900 A1,014,900
= 1,264,000
= 336,000
01 Al&H| 1,595,680 2,607,840 A1,012,160
OREXT SOEMHBLNLAY
1,600,000,000& *99.73/100 1,595,680
=S 1,260,587
s 335,093
03 A& S CHYI 4,320 7,060 A2,740
ONEXT SOEMERAINL AL
1,600,000,0002 *0.26995/100 4,320
= 3,413
= 907
ST SHELSSTIHLAIS (D EALY) 1,707,428 3,294,300 1,586,872
= 1,348,868
o 368,560
401 AlZHIZ SO 1,707,428 3,294,300 1,586,872
== 1,348,868
o 368,560
01 Al&HI 1,702,818 3,285,405 1,582,587
O+ SHEUESTIHL A
1,707,428,0002 99.73/100 1,702,818
== 1,345,226
= 367,592
03 A2 THYI 4,610 8,895 N4,285
ST sHELESTIHLA
1,707,428,000& +0.26997/100 4,610
=S 3,642
s 968
HEXNT SHELESSIHLAL (HEAIY) 1,081,142 2,133,000 1,051,858
< 854,102
s 227,040
401 Al HIZL 2018 1,081,142 2,133,000 1,061,858
= 854,102
= 227,040
01 Al&H| 837,250 2,125,321 1,288,071
O EXNT SHELESTIHE A
1,081, 142,000& #77.4412/100 837,250
=S 661,427
s 175,823
02 22/l 240,000 0 240,000
OMEXT SOEMERSIILAIL
1,081, 142,000 *22. 1987/100 240,000
= 189,600




FA: Aot AIE A
B ABAE U ShAlae
B A=k Al 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 50,400
03 AlESTHYI 3,892 7,679 N3,787
OMEXT SOEMERSILAIL
1,081, 142,000 *0.35998/100 3,892
< 3,075
T 817
HAUX T SHEMSESHLAIS (HEALY) 1,081,142 2,133,000 A1,061,858
= 854,102
Ea 227,040
401 AIZHIX R0 1,081,142 2,133,000 1,061,858
= 854,102
o 227,040
01 A28l 837,250 2,125,321 1,288,071
OMAIXIT SOIEMERATILAIL
1,081, 142,400& %77 .4412/100 837,250
[ 661,427
T 175,823
02 Zeltl 240,000 0 240,000
OMATIT SOEMERAINL A
1,081, 142,400 *22. 1987/100 240,000
= 189,600
o 50,400
03 A& S CHYI 3,892 7,679 N3,787
OMAIXIT SOIEMERATHL AL
1,081, 142,400& *0.35998/100 3,892
< 3,075
s 817
SEX T sHEMSESNLAIS (HEALY) 521,142 316,000 205,142
= 411,702
Ea 109,440
401 AIEHIX R0 521,142 316,000 205,142
=S 411,702
s 109,440
01 AlZ28| 517,860 313,725 204,135
OS2 T SHEUESTIHL A
521, 142,000& *99.3702/100 517,860
< 400,109
T 108,751
03 Al 2CHYI 3,282 2,275 1,007
O+ sHEYESTINLAS
521, 142,000& *0.6297/100 3,282
= 2,593
o 689
CEXNT sHELSSSHLAL (HEAY) 537,142 316,000 221,142




Aot AP A
dotre 2 ERAlZ2d
== Al 2 EER=E)
SA - B SRIBH) - MRAR - BAS A HIDEZ
[ 424,342
s 112,800
401 AlEHIZL S0 537,142 316,000 221,142
= 424,342
= 112,800
01 Al&H| 533,759 313,725 220,034
OZEXT SHEMEBLIHL
537, 142 000&+99.37/100 533,759
=S 421,670
s 112,089
03 Al 20HHI 3,383 2,275 1,108
OSEXT SHEMEHBLNLAY
537,142,000 +0.6298/ 100 3,383
= 2,672
= Al
HEXF SHELSSTIHLAIS (HEALY) 417,142 0 417,142
= 329,542
o 87,600
401 Al HIZ S OHbI 417,142 0 417,142
== 329,542
o 87,600
01 Al&HI 414,515 0 414,515
OHEXT SOEMERAIL AL
417,142,000 %99.37/100 414,515
S 327,467
= 87,048
03 A2 THYI 2,627 0 2,627
OHEXF sHEYESTINLAIL
417,142,00024%0.6297/100 2,627
=S 2,075
s 552
ot 2t 111,978 114,814 A2,836
aot=C2d 2 111,978 114,814 A2,836
101 @124H| 5,778 9,934 N4,156
M ORNZZ2NSE S 5,778 9,934 4,156
ONBIETAIRA £2212] U HEX o
rals] 150,0002 x38 *3 +4 2 5,400
OttiEg= 5,400,000 *7% 378
201 ger=3| 16,400 13,840 2,560
01 At 2|l 5,360 4,240 1,120
Oget=EH| 2,000
- UCHALE tUWE € s+8X S8
= M 500,000 x25+13] 1,000
-g34 4 MEY 83,3002« 12 1,000




FA: Aot AIE A
B ASAE U ShAlae)
=l st 2ie (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=gl 3,360
-dotees HMYesS d+ 42Fd
8,000 472 x524x 122 3,360
® 2=2H| 11,040 9,600 1,440
OB2R2 2 HAl 11,040
ABIAER3 TN SHYER
4002 2, 3000112 11,040
202 04l 2,800 1,540 1,260
01 =LHAHI 2,800 1,540 1,260
CRAEI DHAY F=&
20,0008 7 20 2,800
401 AIEHIZ SR THYI 87,000 87,000
01 AlZ8| 87,000 87,000
Od== ANE 24 Uszad AEI| WA
A 250,000& *1607H 2 40,000
Ok= &= A B+ & wHHb|
68,0003 #2501 A 17,000
OAE =M S A4 |XI 2l
10,000,000& * 14! 10,000
OFA4 BANY U ZABRIHI(AUS S
50001 1 =F) 40,000 5001 20,000
ot==2tel 3,713,656 16,112,467 A11,398,811
= 2,387,000
= 55,199
= 1,271,457
ot== 22| 3,713,656 15,112,467 A11,398,811
= 2,387,000
< 55,199
T 1,271,457
OtSot=E RAl2c 419,590 505,390 /85,800
101 @124H| 5,000 5,000 0
M ORNZZE2NSES 5,000 5,000 0
OUtSot=HelAlE M= & 34
125,0003 22| +200H A 5,000
201 er=23y| 236,840 236,840
02 S3=gHl 236,840 236,840
OsE2= & HA 184,140
-0t S&ot+xeld &lie=
270,0002 5100 A+ 120 & 165,240
-0t SHEZE dJIRsS
75,0002 #2104 A+ 12002 18,900
OAE EHIS X 52,700
-OtSotrXelAe BE2R § FAEx 52,700
400E~50E 1,500,000 #1790 2 25,500
502 012t 800,000& *347H 2~ 27,200




FA: Aot AIE A
M Glac ol
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 7,200 7,200
01 2LHoIH 7,200 7,200
ODtS ot=HMlZH(51HA) 2222 &F
20,0003 x2EH*180 7,200
206 MH=H| 21,000 21,000
01 M=4l 21,000 21,000
OGtSsot=HMelAld AEAE S 21,000
-AEAS 2 2RSS
70,0002 #2555+ 12042 21,000
401 Al HIZL 201 149,550 235,350 /85,800
01 Al&H| 149,550 235,350 85,800
O=&MmS ToC+=2NS=ZI1J| 701 £X
90,000,000& x 14 90,000
Odt==HMelAlE s AS2tE 59,550
-WeEE S wH 550,000 *410H 2 22,550
-2Eel ME 5,500,000& x2IH 223 22,000
=& =8 - 28 & Melerg FOREE
E9t| 15,000,000 * 14 15,000
ot Rl 22ALY 265,000 535,317 A270,317
401 AlZHIZ SO 265,000 535,317 A270,317
01 A28l 265,000 535,317 A270,317
Oot=2t JH=E 40,000
-2Eg 2 100HH 2,000,000 *20km 40,000
Odt=2t A 2g88+
3,000, 0002 *55JH 2 165,000
Oot=2t1 0|82 200,000 *300m 60,000
of==2t1 BIL =Xl 323,400 286,200 37,200
201 et 3| 3,400 3,200 200
01 At2t2l] 3,400 3,200 200
o288+ 3,400
- & of=2t0 BILAIY & tEIIRIR S
141,666 x6H*42 | 3,400
307 el2to| & 320,000 283,000 37,000
05 212t =S 320,000 283,000 37,000
OZ & ot=2tH BILAIY AAE2E ]
80,000,000& %42 7| 320,000
=S IS OtSotseT HUIAY 371,428 769,000 A397,572
= 260,000
= 22,285
o 89,143
401 Al HIZ S OHbI 371,428 769,000 N397,572
= 260,000
= 22,285
[Ea 89,143




A Aote=EAIE A
M Glac ol
&t o=k 2tel (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
01 Al&Hl 335,845 695,329 A359,484
ORE HINKT 012845 BHIAI
371,429,000& %90.4195/100 335,845
= 235,092
= 20,150
= 80,603
02 eyl 34,656 71,748 A37,092
ORE HINKT 012845 BHIAL
371,429,000:&+9.3302/100 34,656
= 24,258
= 2,081
= 8,317
03 Al 2 CHYI 927 1,923 AN9%
ORE HIXNT I25H4E HHIAY
371,429,000 &+0.2495/100 927
= 650
= 5
= 223
= MSXI+ DtSots== ZBIAY 548,571 145,000 403,571
= 384,000
& 32,914
= 131,657
401 A& B 200 548,571 145,000 403,571
= 384,000
= 32,914
= 131,657
01 Al&HI 495,689 131,022 364,667
O+ MSXIF Ot=ct=% EHIALY
548,571,0002+90.36/100 495,689
= 346,982
= 29,741
= 118,966
02 2eldl 51,402 13,587 37,815
O+ MSXIF Ot=ct=% EHIALY
548,571,000&*9.37/100 51,402
= 35,982
= 3,084
= 12,336
03 Al = CHHI 1,480 391 1,089
OUl= MK+ Ot2cte% FUIANY
548,571,000 &+0.2697/100 1,480
= 1,036
& 89
= 355




FA: Aot AIE A
B Sl
&t o=k 2tel (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AN S OSok=E UMY 691,000 665,000 26,000
= 691,000
401 AIEHIZ SR OHYI 691,000 665,000 26,000
= 691,000
01 Al&H| 621,900 600,894 21,006
Odld Sd=2X7 0tSote=E FHIAY
691,000, 000& 90/100 621,900
= 621,900
02 Zeltl 67,718 62,311 5,407
Odld S&=2X7 0tSot=E FHIAY
691,000,000& +9.8/100 67,718
= 67,718
03 Al 2 HHI 1,382 1,795 A413
OUE S+ OtSot+E FHIA
691,000,000& *0.2/100 1,382
= 1,382
28 MEXel2 ofe22 ALY 100,000 2,863,000 A2,763,000
= 100,000
401 AIEHIZ R HYI 100,000 2,863,000 A2,763,000
= 100,000
01 A28l 92,270 2,641,690 A2,549,420
OZd MExiclE+ ot=22 FHIAY
100,000,000& *92.27/100 92,270
= 92,270
02 Zeltl 7,500 214,725 A207,225
OZd MExclE+ ot=22 FHIAY
100,000, 000& *7.5/100 7,500
= 7,500
03 AIZ 2 THYI 230 6,585 6,355
OZd MExclE+ o2 FBIAY
100,000,000 +0.23/100 230
= 230
Ote SEotxcld SEAY 588,000 408,000 180,000
= 588,000
401 Al HIZL 201 588,000 408,000 180,000
= 588,000
01 AlZ2H| 531,317 368,669 162,648
O0e SEoteXeld SEAME
588,000,0002%90.36/100 531,317
= 531,317
02 Zcltl 55,096 38,230 16,866
O0e SEoteXeld SEAM
588,000,000&+9.37/100 55,096
= 55,096
03 AIESTHYI 1,587 1,101 486




FA: Aot AIE A
M Glac ol
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oltgr SEot=xcld SEA
588,000,000 *0.26989/100 1,587
= 1,587
ASAE OtSoteS FHIAY 100,000 95,000 5,000
= 100,000
401 Al HIZ S 0HHI 100,000 95,000 5,000
= 100,000
01 Al&H| 100,000 94,658 5,342
OAlIZ4E Dt=ole= EHIAY
100,000,000 *14] 100,000
= 100,000
oS SAXeIZT o222 HHIAMY 106,667 91,000 15,667
= 64,000
Ea 42,667
401 AIZHIX S0HH 106,667 91,000 15,667
= 64,000
o 42,667
01 A28l 106,667 90,673 15,994
OZs SHXCIEF otr-22 FHIA
106,667,000 * 14! 106,667
= 64,000
T 42,667
g8 QtXelE2 ofe22 HHIAMY 100,000 173,000 AT73,000
= 100,000
401 AIEHIZ SR 0HYI 100,000 173,000 AT73,000
= 100,000
01 A28l 100,000 171,910 AT71,910
O8& 2utxelE+ ot=22 FHIAY
100,000, 0003 * 14! 100,000
= 100,000
Otgr AI0tXCIZ2+ ot=2Z ZHIAY 100,000 215,000 A115,000
= 100,000
401 Al HIZL 201 100,000 215,000 A115,000
= 100,000
01 A28l 100,000 214,226 A114,226
OO0tg A0x2I2+ otr-22 HHIAY
100,000,000 * 14! 100,000
= 100,000
HY2IHHI (Aot A A) 114,951 110,316 4,635
Jl2HI(&ot=ZAtEA) 114,951 110,316 4,635
JI2ZHI (Aot A A) 93,531 89,316 4,215
201 er23| 89,251 84,99 4,255
01 At2tltl 40,335 36,080 4,255
Odgt=3=H| 11,475
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SH: ABETAIRIA
M HAHPAZH|(MoI=Z A L)
Sl JI2HI(4ot=TARA) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
“FA2E SAAY 2,360,000 2,360
202 04l 3,600 3,600
01 =LHOHI 3,600 3,600
ORANEg SHAY 3,600,000& 3,600
HEE S (Aot A A) 4,707,000 2,707,000 2,000,000
= 1,893,000
= 2,814,000
SRS (LetsA) 2,707,000 2,707,000 0
= 1,893,000
[Ea 814,000
Z&Gk=2tH BILE U= 2,707,000 2,707,000 0
= 1,893,000
o 814,000
311 XS0l AHate 411,358 466,540 A\55,182
= 287,000
o 124,358
03 SLEFXLS0IAtaE 411,358 466,540 N55,182
OZ&lot=2HBIL U= Ol A
102,839,500& x4 | 411,358
= 287,000
= 124,358
601 Xt s SatE 2,295,642 2,240,460 55,182
= 1,606,000
o 689,642
03 sLdIFANL=Asoe 2,295,642 2,240,460 55,182
O &lot=2HBIL &=z &=
573,910,500& #4270 2,295,642
= 1,606,000
[Ea 689,642
HEoHeh XIE 2,000,000 0 2,000,000
JIEtZIHEES 2,000,000 0 2,000,000
701 JIEtRI HSHES 2,000,000 0 2,000,000
01 JIE=I AN ES 2,000,000 0 2,000,000
Odt==S82H d&3
2,000,000,000& 2,000,000




